2024

Wy e=metm




gL ==t k=i D024BHEHT AADE =2 DA T

GIAl EHorel I8 2 O JIES W8I LXIGHK LHEHE JI&E B0l =2lXo2 Etgs A2
Ol= BOLRIC B Dot 82 42 R0E = US

O srMoE

[=H 1] 3™22 28 + Y=XES B}

[=H 2] 849 JeHES HHOZRH 849 S42 OlHE 4 JY=XES I

[=H 3] SEX2H] NSN2US ST & YSKE B}

O XNESEX

O F3& 2/(2020), =3 I, WA, 112-117%

O 0lE€ 21(2020), «=8F I, MWW=, 91-95%

O #d= 2(2020), 01X Z, OleHA, 143-147% 150-154%

O Sga&

[=H 1] X292 JHES oldiotl) 2HE HEE = UA=XE =Fot= 24X

[=H 2] 2M2 X2HS 0I186t0 DcHZESl HES Oel, =2 IUS 78 = UA=XNE
=&dot=s 2X

[=X 3] XNSHZHY FEHEYS 010 2ME HZE = UA=XE SHotls =AM

O MBS
(=X 1 TIDIE]
- f(x) = In(x*+3) 14 ¥ MAl : 6%

- g2 WAl 98 (2 3FA)

[=X 2 EIOHIE]

-g¢(x)=a———5 HMAl : 38

(Jc2+3)2
- S e 22 2= 22 HRAE MAl - 7E
- dE2 HAl 108

17



A e oistm 20248HH G FAIDE =2 DAL X} o

[=X 3 EIIE]

- h(O):%, h(1)= —12 HMAl : 58
1
fz sm2xh(cos:c) d:c:f Zz;h(u)zdu%lg HA : 55
0 (3+ cos’z)? (u®+3)
- dE2 HAl 108
O] GIAl get
2
[=R 1] &X f(x :f ; ¢ = In(z*+3) —Ind=In"— > 0|C},
1t +3 4
248 y=f(x) I} =1 BHLE B9 1 XME=E —1,10122 A2 28O 20| 20/ =0/=
2
Int 13 ‘om. e
_ 2+3 4

AFDISH U — — )

(l:!_|c> auO') ln 4 ‘ 11’13
ol A

B 21 /21
t_()’ 3 b 3
Ol Ct.
y

FIO

[=H 2] 8 g(x) 2 2201 & MHOIBZ a<p & M, “gla) > g(B)"

o
B g(2) b x=a A SHEAS XD, z=p0IH SHUAS =0

Qo HRE2XAHOICH & g’(x):a—%-l Jde=Z ol JHE 2 el At
o () = 16(z° +3)° —642°(«* +3) _ 48(x” —1)
(z? +3)* (z*+3)°
01B2 ¢ ()= 2= —10 KM 2t ¢+1, 2=10lA 2=3t «—1S 2=L

2/7



)<a(x>0) ., _
[Z >Z(x<0) hmoog (z)=a

(=]
|0
HU
oo
%>
L_I
%

| El
10
=
09

Mo =
or
nlo
my
[wl

(y=g¢'(z)2 OeHm)

22 & g(x) It 2= 0lM SUO0I2 z=8 (¢<B) M SAE I KM= HMAIZ (LHO
SJoiA =0l HE y=a—13 y=a MO0 =0 UOCOF StCH. TetM ¢—1<0<a.
= 0<a<10ICH

a(z®+3)? —16x
(«” +3)°
x=a, BN 222 2= AO0ICH Wets Glx) IF 20U, 2401 D= r=0,8E TWAMNE =L

(gal) ¢'(x) = b rx=a,B0A 23tS A EREEZAH2 Glr)=al2® +3)° — 162}

16z 16 64x°
[=H 3] ¢ (x)=a—————0|2 ¢"(x)=— + olez
g (2?2 +3)? s (x2+3)%  (2*+3)°
16

f(=1)=0, g(1)=a+2, ¢(=1)=a+1,9"(0)= — 9

OICH =24 (1)t (2)oll 25t

B0) = h(D)=¢'(~ 1) =g(1) =—1

OICt. sin2x = 2sinx cosz 0|2 & cosx=u ct oIH

f; sin2z h(coszx) J _f223inxcosxh(cosx)dx_fl 2uh(u)
0 0 0

d
(34 cos’z)? (3+ cos’z)? (u®+3)? "
OICH GIIIA k(u) = —— 01210 3181 &' (u) =— — 20|22
u’+3 (u*+3)

3/7



iy =2 oSt

2024813 A28 ==1A

Y 2un(u) o
—£ (u® +3)* du=

OIC}.

- fo B )du

[ ko) }:+f01k<u)h/<u>du
—k(l)h(1)+k(0)h(0)+folj;(f;du
~Lhw+ L)+ Oljz'if‘idzt:%

4/7



A 2HetE D18 Ws0l =eldez &t

Al 2

=
L

ol
=

00

3

ioll

i

=

=

INE=

—

[—

F

(9]

ol

0

£ 0

=S|
=}

o M

o

., 83-86%

HMu=, 112-116%

Q(2020), ==& II, ML=, 86-89%

=
-

AE EEot0 Och

S|

| (2020),

Hlel e
g

=
[

=
=

O 0l&<Z 21(2020), 0Ol
0

O A=A
O

O

X
o
700
0K

<+
ioll

ol
~3
K
00
B!
Ie]
x

==
1o

oI

y

s

[=H 1]

ol

o

R0

o)
[l

4
fir

nr

ol
<+

oD

_

i0J
JI0

M 2] oIEot

[—
/=
[w—

[

© 38
5/7

RIA
L 5%

5&
=3

=

HIAl

(=)
=

108

- hiz) = ax(x—2)2+1

HIAl:
108

| =
=
: 58

: h&
28

SIPAR
KAl

=
a=

=
=

= HMAl

2= MAl

gl

-k @) =n"(){h(z)— 1}6““

[=H 1 "OPI=E]

- fla)=alz*—17)

- —— <

[=X 2 "®ODI=E]
-0<r<29s WAl



MEEEHQL*EI 202483 £ A|ZE ==1A} Ko H

1 GlAl Efot
(=M 1] f(x)=az’*+bx+c (a<0)2t 5t ¢” 2)={az? + da+b)z+2a+2b+ c}e* 0| Ct.
ZA (1WA ¢g"(1)=¢g"(=5)=00122 2 31|*9fo| ZHH 22 H
4a+b iy 2a+26+c:_5
a a

0182, b=0011 c¢c=—7a0ICt. @2tA

fla)=al®=7), glz)=al@*—7)e"

r=—512 HR0UAM ¢"(z)2 25t BIPS2 A (1) HZAIZICH

2)0A z>0e M, ¢'(x) <202
(

o

cC
4
S

Y

OIth. et z>02 M,

(22 +22—T)e* > 2
a
OICt. 8H m(z)= (2> +2z—7)e"ct StX. m'(z)=(z+5)(x—1)e” A LA m'(z)=02 =
x=1 E£= 2= —50/Ct. z>0 M, & m(z)e SOt 2AE E2 LIEHHYEE =2 20
T 0 1
m’ () — 0
m(x) N —4e ~
9 H2REH ¢ >02 M m)s s=10M HEat m(1)=—4c S JIECH. [etA %S—éleOI_T’_ o=
s£0182
1
——=<a<0 ©)
2e
f(x)za(x2*7)0|2§
f(1)=—6a @
@ @ulA
f)=—6a= >
e
OICH Watd f(1)2 H%ate a:—z—le%' oy %om
[=H 2] k'(x)Zh'(x){h(x)—l}eh(”)m]_ k' (z)=00A
(x) =0 OlHU n(z)=1
OIEP R(z) =00 E2S 2L 22 2K L= L, w(x)=12 stLe 22 2A=C. 01HS =H
Nl 2F0ICH. Wetd YA 2/(x) =02 A2 U2 F 22 2=l
I.

E‘DEM n'(z) =02 & 20l
0,2¢ B2, 0, ¢ B2, 2,72 %

A

(=)

Li=O

]

6/7



iy =2 oSt D0RABHEAGT AADE ==DAb

2 n(y)=10122 XA (2)0 2Z=0|Ct.
7 S r<02 AR r>00 BARZE LSO M2AG6HA.
e r< 02 M, =A (1)l 2ottt r(0)=10122 Z=AH (3)0l 2=0ICt.

>0 M, =2A (3)0l 2=0ICt.

|
7 ;

y = h(x)

T
|
|
|
T
r

Metd & 22 2% »0ICH (0l 2(0)=1) O BRE 0,22 AJ| BILRE <IdH,
r<0@ B2 0<r<2, r>20 HARZ LI+ M420otA.

e 2< 7Y M, 1>n(2)>n(r)=30122 2=0|C}.

T
! |
! |
| ]
T T
N

2

y = hix)

<
1t
w

<02 M, 2(0)=1011 r(2)E =%240110 n(x) =12 a2t 30122 =2 (1)0l 2

¥y =h(x)
T
|
A .
/ r 0 2
dHB8=Z
0<r<2
012, h(z)Q JeHZ& OfcHet 2 Ch.
¥y =h(x)

OICt.

h(z)=alx—2)3Bzx—2)

m2§y:%mu.43

27
= o ozs= =2 o|ct.
3) 30122 ®22FH « 16 OICH

717

=0ICt.



